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X5 AR (N HBM | LY | AOBE | e
IR ] rod z () [AB (N | (1km2)

B4 04 3,748 3,822 7,570 1,611 4.7 19.3| EEHRE
4 54 3,310 3, 444 6, 754 1, 596 4.2 17.3| EBZHRE
504 3, 045 3,183 6, 228 1, 583 3.9 16.9] EBHRE
554 2,985 3,149 6,134 1,611 3.8 15.7| EBHRE
6 0% 3, 006 3,126 6, 132 1, 665 3.7 15.7| EB2HRE

Tk 24 3, 005 3,104 6,109 1, 695 3.6 15.6| EBHRE

7 2,983 3,123 6, 106 1,726 3.b 15.6| EBHRE
124 2,910 3,019 5,929 1, 755 3.3 15.1| EBHRE
174 2,644 2,834 b, 478 1,714 3.2 4| ERHEE
224 2, 366 2,538 4,904 1,677 3.1 13.7] EBHRE
274 2,112 2,278 4,390 1, 558 2.8 1.2 EBHRE
S 24£F 1, 949 2,044 3,993 1,574 2.b 10.2| EBHRE
EERMENAOLROHTR

(&£4108 1 HIRTE)

X4y E—REX BEOREZE EEREZE Bl
FR MEAD | Bl& % | BEAD | BI& % | BEAD | B& % | BREAD

BF04 54 1,975 56. 6 560 16 956 27.4 3, 491
504 1, 403 43. 4 744 23 1, 086 33.6 3, 233
554 1, 087 32.9 923 28 1,290 39.1 3, 300
604 877 26.5 936 28.3 1,495 45. 2 3, 308

IR 2F 681 21 884 27.2 1, 682 51. 8 3, 247

75 688 20. 6 830 24.8 1, 829 54. 6 3, 347
124 615 19.9 740 24 1,735 56. 1 3,090
175 599 20.5 619 21.2 1, 706 58. 3 2,924
2 24 521 19. 8 514 19.6 1, 601 60. 6 2,640
274 526 21.1 454 18. 2 1,514 60. 7 2, 494
S 24 487 21.1 444 19.2 1,379 59.7 2,310
FREAEREVSEMRRESHEEHPEZBEEL TS,
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BABEDHR
(B - N)
FE e V=S HiFY FE R VRS HiFY

RRFN5 O4F| 1,363, 322 — — 2 34| 1,735,216 34b, 355 1, 389, 861
554 1,913, b4b — — 2 44| 1,826 516 375, 137| 1, 451, 379
6 04| 2,729 716 967, 960| 1,761, 756 254 1,871,343 397,828 1,473,515

R 24| 3,358, 310 98b, 010 2, 373, 300 2 64| 1,864, 887 421,722 1,443,165

74| 3,210,204 686, 039| 2, b24, 165 2 74| 1,663 874 406, 190 1, 247, 684
124 2 462 618 510, 333| 1,952, 285 2 84| 1,634,179 420, 614 1, 213, 565
174 2 266,137 415, 755 1, 850, 382 2 94| 1,670, 759 437,519 1, 233, 240
1 84 2 251,207 409, 987 1, 841, 220 3 04| 1,751,830 445, 156( 1, 306, 674
194 2 268, 706 417,756| 1,850, 950| <5%0 Ju&E| 1,742, 280 442,941 1, 299, 339
2 04| 2, 280,783 422, 462| 1, 858, 321 24| 1,159, 223 183, 987 97b, 236
2 14| 2 031,232 414,939 1, 616, 293 34| 1,380,408 201, 763 1,178, 645
2 24| 1,856,630 383, 310 1,473, 320 44| 1,457 378 23b, 588 1, 221, 791



http://toukei.pref.gunma.jp/

BERANE FEREIF R sramsnEs (Fs1 943 8) FTHR)

No. K4 £ No. K4 B

F 5 & BR3422. 4.1 ~ 24.3. 31 B #eRER| &  ~ BAA30. 6.21

1 1

2 5 {LRER| 24 4 1~ 26 331 2 g E 3. 7.1 ~ 32 4 2
3 B & B 26. 4. 1 ~ 27. 3.31 3 W B & 32. 6.15 ~ 34. 4. 1
4 B OECRER| 27 4 1~28 7 2 4 = BN 33 5 2~37 5 1
5 B Ex & 28. 7.20 ~ 30. 6.19 5 F E & 34. 5.10 ~ 35. 5.24
6 B # /| 30 630 ~32 9 8 6 g EF & 3. 6 5~ 36 313
7 BE & B| 32 9 9~ 351130 7 BB ® & 36. 3.25 ~ 37.11.10
8 B 5 | 3512 1~36 8 7 8 oA 0 37. 8.16 ~ 40. 4. 3
9 BE #& | 36 910 ~ 36.11.30 9 AR 37. 8.16 ~ 38.10.16
10 B ¥ | 3612 1~ 238 331 10 B RTER 38.12.26 ~ 42.12.25
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SHER 38. 8 1 ~ 40. 2.18
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iy = 40.4.19 ~ KIE3.12.16

—
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B &£ F 40.3.2 ~ KRIE3.12.1b

—_
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¥
F = F 41. 3.31 ~ 43. 3.21
= 4 R 43. 5. 5 ~ 44 4 1

—
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—_
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¥ ¥ T 4.1. 8~ 8 1.7
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—
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W OERER| 9.9.20 ~ BBFNS. 9. 30 B POERAR 44.4.26 ~ KIE2. 4.1

Fi I (= 4. 425 ~ 5117

—_
(@3]

¥* 5 KIE2.4.16 ~ 6.4.15
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16 ¥ th — 6. 2.23 ~ 14 2.22 B ¥ B 4. 4.26 ~ 8. 4.25
17 BR FI=HB 14. 3. 8 ~18 3 7 17 F 5 ¥ 8. 2 8~12 2 7
18 B fEBER| 18 5.19 ~ 21.11.30 18 B O FH | 12414 ~ BBH24.13
19 B o — | 22 4 8~2 330 19 R kK &| KE1369~ 15810
20 EOF OB 26 424~ 30 429 20 RO8 fE BBHN2.6.7 ~ 4.4.25
21 B B9 BE| 30 430 ~ 34 430 21 g o — 2.6 7~ 6 223
22 B EBES 34, 5. 1 ~ 38 4.30 22 Bl THHRER 6. 6.30 ~ 12.10.30
23 CI 38 5 1~ 41 6 1 23 W & 1311 ~ 14 919
24 B R 41. 7.20 ~ 49. 7.19 24 B B E 14. 9.20 ~ 18. 6.10
25 B F | 49 7.20 ~57. 7.19 25 g & 18. 8 3~22 4 6
26 B gt — | 57.7.20 ~ a6 7. 19 26 Z JR=HF 22. 7. 6 ~ 23 7.30
27 fF B 5 6. 7.20 ~ 7. 9.25 27 H BB 23.10. 6 ~ 27. 9.30
28 = A N 7.11.12 ~ 16.11. 11 28 W B & 27.12. 8 ~ 31. 5. 8
29 B OB —| 151112 ~17 923 29 "B R 31.10. 1 ~ 34 4.30
30 BE & & | 171113 ~ 29.11.12 30 F ¥k A 35 7.20 ~ 39. 7.19
31 = & OF 29.11.13 ~ |AE 31 FAFLER 39. 818 ~ 43 8.17
2/ = 44, 4.21 ~ 48. 4.20
BE F X X 49.12.21 ~ 57. 7.19
M2 HF X B 58. 6.17 ~ 62. 6.16
B|EF BT H 62.7.1 ~ Fm3.6.30
6|2 T = W 3.12.18 ~ 7.12.17
3/ | &2 % B 8 4 1~ 16 331
B F* BE E % 19. 1. 1 ~ 26.12. 31
| K T F =E 27. 2.1 ~ 29.11.12
01« + B = 3. 1.1 ~ B
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No. K4 £H#A No. K4 et
1 | B 0 EXRER| BEA40.4.15 ~ 44.4.14 T|ls b B #0121, 10. 15~22. 4. 24
2 | % B WARER| 44415 ~ KIE12 421 2 |% B’ H 22. 5.20 ~ 24. 7.31
3| F # ¥ B| KE12429 ~ 13521 3|2 % = 24 .7.31 ~ 27.12. 8
4|2 % B F| 14114 ~ m@as .13 4% R = 28 2. 5 ~ 30. 4.29
51F & (=8 BFN8. 4.1 ~ 13.5.8 b | A ZF I 30. 5.12 ~ 32. 5.24
6 |= B FE=ER| 131228 ~22 430 6| A F £ 32 5.24 ~ 34 4.29
7|F B = B 22. 8.21 ~ 22.11.20 7|2 % 34. 5.14 ~ 38. 4.22
8 |& % (=8 233 1 ~ 27 229 8 |2 B {EREB 38 516 ~ 41. 6. 1
9 |# L X=BB| 27 3 5~39 3 4 9 [/ % 2 41. 6. 1 ~ 42. 4.29
10/ #% = 39 4 1 ~ 44, 4.20 102 F M 42. 5. 6 ~ 48. 6.25
NIEg &% £ x 44, 4.21 ~ 49.12.21 MIA E E 48. 6.25 ~ 49. 6.28
12| % E =| 5. 62 ~57 7.19 12|&F % BXRED 49. 6.28 ~ 51. 6.22
BT % BA 57. 8.17 ~ 62. 6.30 13|#% B — 51. 6.22 ~ 52. 6.23
42 % = | 6271~ FmM31218 4lA B *H 52. 6.23 ~ 53. 6.30
B|l% R’ E # 31218 ~ 7. 7.16 5% B — 53. 6.30 ~ 54. 4.29
6% B 8 X 8. 4 1 ~ 16. 3.31 16|= H B4, 5.12 ~ 57. 8.17
17(A F E 57. 8.17 ~ 58. 4.29
FEAMBSE 18|14 F K 58. 5.11 ~ 60. 6.18
No. K4 EHA V|2 &F K 60. 6.18 ~ 62. 4.29
1|&® W B ¥E| mB\Mm27 101 ~ 28331 2018 BH E= 62.5.14 ~ 3. 4.29
2 | & B J|-H| 28 4 4~36 930 21|+ B9 % fE 3 515 ~ 5 615
3|2 B % A 35.10. 1 ~ 43. 9.30 2| E F X 5. 6.16 ~ 7. 4.29
4 |3 W % 43.10. 1 ~ 52. 9.18 2|12 HF F 1 7. 516 ~ 7.12. 8
512 & — X 52. 9.19 ~ 58. 6.25 2412 B B 7.12.25 ~ 9. 6.13
6 |= B %= X| 5 820~ 63 930 |8’ B B % 9. 6.13 ~ 11. 4.29
7|2 B FmER| 63101 ~ ¥A8.9.30 26 |% R’ £ & 1. 5,12 ~ 12. 6. 8
8|# L 5 B 8.11.14 ~ 16.11.13 21| & H B A 12.6. 8 ~ 13.12.12
9|A B & X[ 17 4 1 ~20. 33 28| H 2 B — 13.12.12 ~ 17.12. 8
1018 & fk E| 20 4 1~ 22 33 9|2 B T A& 17.12. 8 ~ 19, 4.29
M2 % # — 22. 4 1 ~ 29, 3.3 0% B® H EB 19. 515 ~ 21. 5.19
12(F B B #H| 29 4 1 ~ $7023.31 S| A F BEX 21. 5,19 ~ 23. 4.29
13[#% &®E B =T 241 ~ B |/ B E A 23. 5.12 ~ 25. 5.16
3B |8k E = B 25. 5.16 ~ 27. 4.29
U2 F F+ B 27. 5.13 ~ 29 512
3Bb|F B E KX 29. 5.12 ~ 30. 5.16
B2 F x = 30. 5.16 ~ %1 3. 5. 14
37|F B & KX 3. 5.14 ~ 5.4.26
B|#% | E 1§ 5. 516 ~ 1




